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1 KOGERAOHDS, 2KFTHEXNETXTEI RSV,

@ 2*=3 @ 2*-3x+2=0
@ (x+1)-2a*=0 @ 2(x+3)°-2*=0
@, @ @
2 ROKEXOHHPE, BOL1OH-2TH5bDETNTEF LRIV,
@ a*=4 @ 2*-2=0
® (x+2)*=0 @ (x-2)(x+1)=0
@ (w+2)’=(x+2) @ F+ax-6=0
3 ROFEKXZME %I,
(1) (x=5)(x+2)=0 (2) #+4x+3=0
x=5=0 F7/ix x+2=0 (x+1)(x+3)=0
x=5 x=-2 x+1=0 F721& x+3=0
x=-1, x=-3
(3) a*—x-12=0 4) 2*—6x+9=0
(x+3)(x—4)=0 (x=3)*=0
x+3=0 F72iF x-4=0 x—3=0
x=-3, x=4 x=3
(5) &*+10x+25=0 (6) 2*—4x=0
(x+5)*=0 x(x—4)=0
x+5=0 x=0 F72iF x-4=0
x=-5 x=0, x=4
(7) &*-25=0 ®) 2’=4
(x+5)(x—5)=0 x*—4=0
x+5=0 F7/i¥ x-5=0 (x+2)(x-2)=0
x=*5 x+2=0 F72i& x-2=0
x=*2
(9) 2#*+3x-54=0 10 2*-5x—-14=0
(x=6)(x+9)=0 (x+2)(x=7)=0
x—=6=0 F72 x+9=0 x+2=0 F72i& x-7=0

x=6, x=-9 x=-2, x=7
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(1) 2*-7=0
=7
x= =7
(3) (x-2)*=9
x—2=%3
xr=2*3
x=5 a=-1
ROFERRZHE % S,
(1) 2*-x-3=0
(D= J (=17 -4x1x(-3)
2x1
_1£J13
2

(3) 2+5x+3=0
—5+5°—4x1x3
2x1

—5+./13
2

(5) 32’ +6x+2=0

N —6£J6°—4x3%x2
2%x3

(x+5)*=5=0
(x+5)*=5
x+5==*.5
x=-5%.5

Z+3x+1=0
: —-3£J3F-4x1x1
2x1

=325
2

205 +3x-3=0

L -3+£J32—4x2x(-3)
‘ 2%2

—3+./33
4

20— x-3=0

— (D= J(-1)-4x2x (-3)

2X2
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(1) 32°—-18x+27=0 (2) 22°-48=0
2P—6x+9=0 ¥ —24=0
(x—3)*=0 X’ =24
x=3 x=*2/6
(3) (x+1)(x—2)=2x+16 4) (x+5)7*=2(x+5)
P¥-x—-2=2x+16 2 +102+25=2x+10
2¥-3x—18=0 ¥+8x+15=0
(x+3)(x-6)=0 (x+3)(x+5)=0
x=-3, x=6 r=-3, x=-5

TIZOWTO2RGRR P+ ax+b=0DFN3 L -10EE, ak bz ThTIRDR S,
Prar+b=0D 223 - 1%2ZnZNRATEL,
{9+3a+ b= -+ @

1_a+b:0 ...... @
al blZonwToHVEEXE L TINEEL L,
a=-2, b=-3

%A oa=-2, b=-3



